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SECTIONA:

LANGUAGE Time: 1 hour 40 minutes
EEAD THESE INSTRUCTIONS CAREFULLY

1. You have been given 1h§.§ quostion booklet and a separate answer sheet. The guestion booklet contains 50

questions.

[

Do any necessary rough weisk in this bookict.

(95 ]

When you have chosen yous snswer, mark it on the ANSWER SHEET, not inn the question booklet.
HOW TO USE TIHE ANSWER SHEET
4. Usean ordinary pencil.
5. Make sure that you have wristen on the answer sheei:
YOUR INDEX NUMBER
ceeo o0 YOUR NAME
; : NAME OF YOUR SCHOOL
6. By drawing a dark line i e the correct numbered boxes mark your full Index Number (i.¢. School Code
Number and the three-fig: v Candidate’s Number) in the grid ncar the top of the answer sheet.
7. Do not make any marxs ¢+ side the boxes.
8. Keep your answer shezt o «iean as possible and do not fold it.
9. For cach of the questions i - 50, four answers are given. ‘The answers are lettered A, 13, C and . In cach
case only ONE of the four answers is correct. Choose the correct answer,
10. On the answer sheet the co rect answer is to be shown by drawing a dark line inside the box in which the
fetter you have chosen is writen, ‘
Example : ' h
in the Question Bookicg;
L question V6, select the GEST aliernative to complete the blanks.
16. 1he coach with the prayers
A are
B. have been
C. is
. were

___incthe field.

The correct answiy is {C)
On the answer sheel:
ﬂ At B 1CiDy ECR A'Bi gD iAH B CriDY :AnBé oD 1A BIICHID
In the set of boxes nurubered 16, the box with the letter C printed in it is marked.
i1. Your dark line MUST bc within the box.
12. For cach question ONLY ©NE box is to bc marked in cach set of {uur boxes.

This question paper consists of 8 printed pages.

Candidates shouid check the guestion paper ic ensurc that all
the pages sre printed as indieated aand ne guestions arc missing.
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Read the passage below. It contains blank spaces numbered 1 to 15. For each blank space,
choose the BEST alternative from the choices given.

We may nottell  __1__ howman will iotgk'ligcc infiftyor _2_ ycarstocome but we can
certainly guess. This is possiblc \N:hcn we look at ___3__ pcopl'gof the past looked like and we compare
this _4_ thecurrent _5 _ ofpeople. The people of the past had streng muscles and in size, they
‘were generally _ 6 thanthose _7 today. It is not strange to __8_ that they worc no shocs
yetthcy _9_ runeven faster than some wild animals. They generally ate more than we do today and
took less time between one meal and another. __10__, they were not very clever.

We are generally shorter _11__ with stronger cyesight. This, however, _12 notlast long
henceitis _13_ tosee many young people wearing _14 . We use more of our fingers and less
of the muscles. Our L,.wnrk‘fast€f and-that explains"why thany new innovations like M-pesa,

computers, mobile ﬁhonesand use of ATMs have come up.

1. A. really . B. surely o, _cxact;ly‘ , D real

2. A. now B. el$e 13 ';hen § L Dso

3. A ; B. why C, hov;zv : l) when

4. A wih B dke o Coas D. a

S. A. grow B_-VVAg_el}glfc_ﬁion“ o Ul type 7 D population

6. A. big iBhuge C. 'bigger , D less

7. A. growing - B. working C. staying D. living

8. A. sec | B. note C. krow D, tell

9. A would R. should C. could D. might

10. A. Moreover B. Unfortunately C. Properly D. Besides

11. A. but B. and C. or D. with

12. A can 3. did C. or D. does

13. A. commen B. fumy C. strange D. surprising

14. A. hoods ¥, spectacies C. darks D. goggles

15. A. minds B. hands C. brains D. thoughts
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In questions 16 to 18, select the word which
BEST completes the senience given.

16.

17.

18.

The scouts club patron asked the members
to ____ theirchairman pcacefully.

A. sclect

B. vote

C. bring

D. clect

It is very important to show
______ifgivenany form of assistance.
A. gratitude

B. acceptance

C. kindness

D. memory

Many accidents are caused by drivers
the given speed limit™ "~
A. overspeeding

i

B. cxcecdingg :
C. passing ,
D. reaching |

‘i questions 19 (md 20, wleci tfle sentence
wlmh is (()RRECT ‘

19,

20.

A. Nonzof us wereahk o re.tch home Jeforc

the rains. :

B. The Principal pumshed all the noisy-
students. '

C. The tnplcts resembled éach other very
much.

D. ©'know you lost your pen but this one is
not vours,

A. He likes praying immediately after
waking up.

B. The teacher has punished her thi: term
only ones.

C. The bully was suspendced for being. rude.

D. His hlack shoes needs to be mended.

e

I

For questions 21 and 22, choose the word which
LEAST fits in the group.

21.

22.

23.

_ SHOULDER
TROUSER

285.

A.
B.
C.
D.

fat
cat
bat
dint

fry
roast
boil
stew

The words below can be re-arranged to
make a CORRECT sentence if one word is
omitted.

NOT WET THE RAN WAY RAINED ON

WE ALLAND HOMFE WERLE

Which word shouid bgomittcd?

. A WET
B. ON
C. RAN

D HOME

24.

icru are three letiers fh,u are found in ALL
the following words. |

TROUELE SAVIOUR

Which English word can be made from the
threc words?

A. SUE
B. RED
C. OUR
D. SAD

Choose the word which makes this sentence
TRUE.
You should always cat a balanced dict in

orderto  ahealthy lifc.
A. remain

B. stay

C. start

D. live
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Read the following passage and then answer questions 26 to. 38.

The boys had left home together for their usual play. It is not known where cxactly they played
as they kept moving from place to place, changing from one type of game to another. They would reach
home safe, tired and in most cases. very dirty. No one would know what they were actually busy doing
the whole alternoon.

Thatalternoon, the boys were chasing butterflies. They ran after them, shouting and gasping for
breath. Whenever cach was just about to cateh one. it would fly into a thicket or go upwards. leaving the
boys laughing their hearts out and feeling somehow frustrated. This made the boys find themselves in the
shrubs and thickets and since they were hungry, they could not resist the ‘cmpmtion to pluck and cat the
guavas which grew wild everywhere there. You could not say they were ripe but to them., it served the
purposc.

Inabout five minutes or so. they were sitting down, each armed with a couple of fruits, awaiting
to be caten in turns. Then. from the corner came a woman. She was carryving a normal reed basket on
the head but what was striking most was her green frock that was almost sweeping the groud as she
walked towards them. The boys gave her one look and upon realising she was a complete stranger,
dismissed her,

This did not stop her from walking directly to where they were sitting and put her heavy
basket just next to them, Surprisingly to her, they took off'in different dircetions as if flecing from a
monster. [U's only Yona who heard her croaking that she just wanted them to assist her locate her
sister’s marital home but singe he too was in a (light like the others, he never looked back. Looking
surprised and som(,how dlstm bed, she took her basket, hoisted it on her head and walked on. Not
caring the least, the boys converged at the same spot and the g guava-cating resumed.

When the douds started drilting towards the hills, the boys lLdli%Cu, iﬂrough experiencee, that it
was time to feave. I’ hcy half-walked-halfran and eventually safely reached their homes.

When Yona arrived,it was alrcady drizzling but the sweet aroma of° roasting maize was distinctive.
He grabbed what his younger brother was munching and in a muftled voice, he enquired where it had
come from for it was not a scason of'maize. “Do you want a full one?’ asked his brother. *Yes, give me,
“he replicd instantly. “Follow me,” they young boy commanded, leading him in a run towards grandmother’s
house. They entered without knocking as usual but the presence of somebody sitting alone at the corner
jolted Yona. In semi-darkness, he could not sce properly but he went towards the person to offer a
greeting as a custom. It was when they were greceting that his memory Nlashed; the woman was ina green
frock! Yona almost fainted but the woman was quick enough to offer him the cob she had as they greeted.”

“Is this also Susana’s son?”, she asked. Yona could not answer beeause his throat had suddenly
become dry but the grandmother gave a quick affirmative answer from the fireplace. He bolted from the
houses to avoid the second question he was very sure was about to come.
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26.

27.

28.

29.

Why did no one know witere the children

played?
A. They left home when no one was
around. TR T

B. They were ever on the move.

C. Their games kept changing all the time.

D. No one was interested in where they
went,

The boys were chasing butterflies because

A, they picked on it to keep themselves
amused.

B. it was their day to catch them.,

C. they had Iefthome in the afternoon,

D. there were more butterflies than any
other inscets.

The boys did NO'T succeed in catching the

buttertlics

A, because they did not run fast cnough,

B, since they had started fecling hungry.

C. because that actually was not their
mnterest,

D. as the insects seemed 10 know how to
evade them '

How did the boys find the guavas?

>

They had been cating them daily.

B. Their laughter led them to the fruits,

C. Ithappened by coincidence.,

D. They decided 1o change and do
something ¢lse,

FThe woman the boys saw coming towards

them

A, did notattract their attention.

B. looked too old and tired to bother them.

C. hadatype of basket carried by strangers
only. '

D. scared the boys with the frock she was
wearing,

31.

33.

34,

3S.

What do you think surprised the woman

MOST about the boys?

A. Where they were sitting and cating
guavas.

B. Their behaviour when she reached there.

C. How their clothes looked that afternoon.

D. Chasing butterflics instead of helping
their parents at home.

The way the boys took off when the woman

reached them shows that

A. they knew what she wanted.

B.  they had suddenly become scared ol her.

C. ithappened without prior planning.

D. it was not their first time o escape from
trouble.

Yona is LIKELY (0 be the only one who

heard the woman’s request because

A. the woman did not scare him like the
others.

B. he had caten more guavas than the rest.

C. he had remained behind intentionally,

D. hedidnot take offat the same time with
others. i

When the boys took

the woman, |

A. it made her learn that she was a
stranger. - :

B. she wasn’t surprised as she expected the
same.

C. the memory of her sisicr’s marital!
Hashed back.

D. she realised the reed basket she carried
had scared them.

o;ffinslcad of helping

How did the clouds make the boys decid

to go back home?

A. They moved in a dircetion that would
makc rain fall.

B. It made the place become dark all ofa

sudden.

C. The hills seemed to move towards the
clouds.

D. They must have been rained on in the
past.



36. As they ran towards grandmother’s house,

37.

38.

A. grandmother was waiting to ask Yona
what he had done. ]

B. Yona’s brother knew he had succcedéd! |0 #0ognse
to trap him.

C. both boys’ minds were set on the same
thing.

D. Yona believed his brother was lying to
him.

Why did Yona’s throat suddenly become

dry?

A. e never wanted anyone to know who
his parents were.

B. He believed the question was
connected to his behaviour.

C. He had never heard his mother’s
name. :

D. He wasnot sure 1fgrandmother coulia

In the end, we icam that

A,

B.
C.

D.

answer 1t

Yona got tu-., mdl/e and left thc house
lmmcdldtel)

Yona apologised f‘or his mistake.

The two boys were each given roasted
maize to cat. R
Yona's mothm wamed h1m against
being "udg"{o strangers. .
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Read the passage below and then answer questions 39 to 50.

Locusts have threatened agricultural production in Africa, Middle East and Asia for centuries.
Desert locusts are po&emfally the most dangerous of the locust pests becausc of the swams fly ability
to rapidly across great distancces.

The last desert locust invasion was in 2004 and 2005. It caused significant crop losses in West
Africa and had a negative impact on food security. Desert locusts are a major contributor to famine.

Locust reproduction is favoured by a good rainfall and high temperatures. Global warming and
flooding are among the many other results of climate change. This is why when heavy rain falls, the
multiplication of locusts increases. They lay their cggs when it rains and when the eggs hatch, a new
swarm is born. Locusts have their swarming phase; these insects are usually solitary but under certain
circumstances, they become abundant and change their behaviour and habits. This makes their number
to increase so much that they cross over to neighbouring countries.

Due to a rise in temperatures in Kenya, the desert locusts are finding the current weather conditions
suitable for their existence. The flooding and .adequalefainfall in the recent past in the northern part of
Kenya, the area has experienced a lot of vegetation growth, leading to plenty of food. This is what has
attracted the locusts. Since iﬁsects fly and can see far, while in Ethiopia and Somalia, they saw alot of
their food in Kenya. This cncouraged their mlgratxon -which m1gh1 not stop if not controllcd Already
morc counties within Kenya, such as Meru Isiolo and Sambun.g are begmmng !o see plagues of the
locusts. '

i

Now that the l!ocust problem is with us; what should we do as a country? Thc government is

using aerial spraymg to kill and eradlcate the locusts Thisis nota very cnv1ronmenta[ly-ﬁ1cndly measure

but a necessary evxlfto keep the Tocusts in check or elsé their fast sprcadmg reproductlon rate can
overwhelm us, § ' e RN e %

anxronment-gfrxendly method could'be’ the use of ‘mologlcal control of mechamcal methods,
such as having birds to feed on the locusts. This might, however, not be the ideal or practicable now
because we have low number of birds and they are not concentrated where the locust problem is
already being experienced.

Local communities have been using drums stones and smoke to expel the insects. They should
be encouraged to continue, even though these methods are of low efficiency and if wholly relied on,

will lead to more destruction of vegetation and grains in the affected area.

39. What makes desert locusts to be very | 40, How do desert locusts affect food security?

dangerous? o ) A. They look for stored food and destroy.
A Fhf: period they havc? taken threatening B. The locusts destroy growing crops.
agriculatural production. C. Their speed of flight over the farms is
B. The area of the African continent they dangerous.
cover. ) - D. They eat only what human beings grow
C. The fact that they harm both animals and for food.

plants.
D. Their ability to fly to very far places.
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41. The population of desert locusts could drop
drastically if

A. the rain fcll as the temperatures went

higher.
B. the locusts ate less plants than they do.
C. temperatures dropped and less rain fell.
D. the amount of rain kept increasing with
time.

42. Iflocust invasion became more frequent,
A. the government could casily control
them.
B. it could lcad to starvation.
C. farmers would change and grow
different crops.
. they would dic of starvation.

43. How does rainfall affect the multiplication of
desert locusts?
A. It makes plants grow faster for locusis

to feed on. .
B. Locusts eat more during the rainy
scason. _
C. Locusts lay their cggs during rainy
scason. ;

D. The rain makes the locusts mature faster.

44, Whyisitdifficultto control the movement of

locust?
A. Their food is found across many
" countries.
B. Itisnotcasy to see them move to a new
place.
C. No other animals cat these insccts.
D. 'Their ability to see far and fly fast.

45. 'The MAIN reason why desert locusts move
to different countrics is to
A. look for more food.
B. incrcase their arca of invasion.
C. usc the rainfall being experienced there.
D. give them time to sample difTerent food.

46.

47.

48.

49.

50.

The countics of Meru. Isiolo and Marsabit

are given as examples in the passage off

A. arcasin which locust invasion is normal.

3. the only places where locusts find casy
to invade.

C. arcas where control of locusts is
impossible.

D. places where locusts are beginning to
settle in.

We shoud look at the locust problem as a

country because

A. they invade one country at ago.

B. rain pattern changes from one country
to another.

C. no place is sate from them.

D. locusts move from onc country 1o
another.

What does the writer mean by saying the
government is using aerial spraying to kill
locusts?

A. Spraying them {roni the air.

B. Spraying them using air.

C. Spraying specitic arcas.

D. Looking for locusts in flight.

Birds may not be the BEST to use to contro]

the spread of locusts because

A. descrt locusts 1y very fast,

B. notall birds cat locusts.

C. thelocust hide under lcaves of plants.

D. somc locusts are too big to be eaten by
birds.

The BEST title for this passage would be

A. The feeding habit of desert locusts.

B. The relationship between the weather
and locusts.

- C. How governments control the spread

of desert locusts.,
D. Thecffect of desert locuts invasion
and its control.
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